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1 = KR HE B IE BHE/EMSE =3 BEEE B8 - RES 737 5.6 18 15 1 2.5 0
2 LY KR BKER IR RA EIIps] S =3 BEARES SRS 732 6 15 16 1 22 0
3 h KR BKER AT 44 FROE AEERS B RIS E -~ B 818 6.2 15 15 1 2.2 0.5
6 — AE - I BKER REFEM LRAR B HIEEFS KR 759 6.2 18 16 1 2 0
7 _ HRERS BKER ipisck: T4 =3 MHELS KR 770 6.2 18 15 1 23 0
8 = SEEIEAM BB SEEYI=E i TS A ER IR =3 FARBS KR 752 56 18 15 1 2.5 0.1
9 LY BItE - K¥E BURER RE MBI -3 EINHEE S KR 732 6 15 16 1 22 0
10 il WE - ) FKER PO B AT IER BmzES =E3 BOFRE KR 809 6.2 15 15 1 2 0.5
13 — NEB - IR BRER Mg T R =3 KHEEES KR 759 6.2 18 16 1 2 0
14 _ SRR BKER BEEAH PH=6 B RINE#B KR 780 6 2 15 1 25 0
15 = Btz & FEERM ERET E2 RN KR 720 6 15 1.5 1 2 0
16 Y B RER BKER SEIERAR EXTS=Ed =E3 RES KR 758 6.2 16 16 1 23 0
17 il WE -~ BKER BIUBA LRENE =3 BAAEMS 7K 828 6.2 1.6 1.6 1 22 0.5
20 — Ras - I BURER BHEAR eLEF EE2 SE=H#S KR 759 6.2 1.8 16 1 2 0
21 _ =S TR BURER &g 5% 1 =3 HERKES KR 757 6.2 1.8 1.5 1 2 0
22 — ] RHE BALKD [N X N ETEER KR 715 5.8 15 15 1 22 0
23 Y ¥E - KE BKER e ARAERRE 2 ROBERS 7K 737 5.6 1.8 1.5 1 2.5 0
24 il e - B BKER MBI EE e Ry =3 EVSAEY KR 798 6 15 16 1 2 0.5
27 — LEER0E - B BURER SRR I =3 FKEIES KR 759 6.2 18 16 1 2 0
28 _ BHFRTW BKER AR IRTFARE LD A4 g2 HIRES KR 766 6.2 18 15 1 22 0
29 — M55 RHE AHEER BEHSE =3 R KR 715 5.8 15 15 1 22 0
30 7 AL -SRI BKER I FRW=T =3 EMTRS KR 737 56 18 15 1 2.5 0
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